wREtE (&%)

ZREETS DA 8 S RSL AR W R AP RoR = THESE - 60y 30in 3605

} 44 Bk B B H A & B e
1 I EH \
exaEE (WEEBTIC S — M+EAREE/80m) N 1
R e (STE/ARN X 2. 6 R X 2+HSr Z 5 0FH) 2N 1
M) (RIEEIER) = 2
FEAEE (115.5m) oy 1
2 EEmAF—R (F&K)
() Kibm/erdh (iJea - kB /1. 63m+8. 13m+3. 26m) n 13.01
(FIE) FmkEm /oAl (fijna -« Pk EEA/62.20n+29. 72n1) i 91.92
(FREE) MimEEm/eally (FiJex « FkEA) m 7.92
(FRE) T EEm/ealli (FJex - Pk EA) m 15. 90
(L) Rmm/ealh (Fijnex - kM) n 35.91
(FREE) Ny i erlll (fJea - PAREA) n 87. 59
(FR4E) BEeR/va2s U (FHiE e OV-7 - AL Ef 3E) ni 252. 24
(FIE) n—wva))—-y (B4 /W1500 X H2000, Hf & 3L /1645 py) (Eh 17
(3E) Rmmzesf iy 7)) (STELOKPEIVIEREE /WT0/7” 74v-38) m 59
(dE) RIEN v avV=v (STERL/ KMV A 8R38E /W40/ 7" 74v—3E) m 64
(B2E) i5mm - Wik OB /oK ME Vv 8 dE /H2830 X 39 Ft /7 74~v—3k) ZN 39
(BR3E) N yIn vtk OREL/OKPEIVIVEHE /5. 6m X 344 /7 74v—3E) 54 34
ORT) BEREN N VWi EEE (BE+RIEEED S /2H) 2N 1
3 JMNAHF—R
(F4) K (Frea « gk R /AL R ) i 1.82
(FA4E) FoREm (fijna « kB /EREE) n 2.16
() R 7)  (STHRL/KMEIVIV BT /W70 X L=2. Tm) N 1

4 BRIE EBEEFr—X+Msrr—2X)

THNR (BEmy- AN -2 =RERR A AR B (BK) DGR/ 196 i+ 164 )

1,3




wREtE (&%)

2N B & Al 4 KR T L
R i A ST - A=BEER iR EER DR /15
B T - AR S L - A=BEER FR 2=y FBOXD FE /195 +1 &
BE i F— A+ RN F—A=LED#s A A /A E iR 2 0/ 19 5T +24T
BE - A=BEEX BlARS I b O E/30m/SPas EL I3 RERR P H
BRI - A=A N AP a2 N E /3T
IS == @aﬁ& D MBI % +SPEE ELO KT ek
FEHH 25 S, R, EEHAKILD H D 4Feet = 13 AOWHA7" TEAST/LED i T £ e EL
ﬂiﬁ@%%ﬁ,ﬁ\ P, A, EEAKHLD H D 4Feet (W0 —fF) = 6 AOWHA7" TEAST /LED i Ji £ i EL
s e, it SRS DH D 2Feet = 2 20WhA7" EAT/LED B i o i EL
MEAA Z ELEUAT % (2147 X 2% A /STHt1. 60 L) & P 42 1 & A2ty |
A=Y 4 = 1 GEEC )
ZE2EBA/ =T 2=% « TV Fat = 3
HEBHES B 7 b AR v b B 2
BLRRA I T-Aftvay 7 74V ARR2m [ ZN 1 om/Ef)
BORRY Ib vay7 A= Avky7 H & 1
BORRY b vav7 sAvzvE ¥vy7T H & 1
BoARs 7 MU R JE T S 2N 1
BRI vay? 34/ 7-AFavts N 70 | J[E 3
24 9FBOX IE 1 2B /VEL17 X 136 X 44 - HE5A FH
EM-EEF/-7" v (1. 6mm-3C) m 78
EM-EEF7=7" v (1. 6mm—2C) m 26
EM-FCPEE/—7" ¥ (0. 9mm—1P) m 110
r=7" VR = 1
Ay VaE AL (2P15AE X 2) I 3
W7%vy7 (7-AfF/WF5015B) [E 3
ot (F-2) VN 12
THFEML « HEAEL N ]
L N 1
5 JikE - REE
(MEE=md R/ i g - )
AZIE <« B - AR (R L) 118 2
A - JER - BRAE OR L) 1£15 2
A3 - E - RAE (BEE TR 1158 1
A28 - ER - IRAE RIETE) 115 3
A - JEk - RAE (BERLE) 1158 5
AZE - Ei - RAE (CFEE) 1E1E 4

2,3




wREtE (&%)

44 Bk T W& Al & FE i 2
ERE (BETE) e 4
HiRE (RETLE) 1A 9
1H51RE (BEXLE) 1 3
rEng (LR e 10
BB EEN 1
i L ek E ¥ 3
HEEHE 2 1
R E EEN 1
=t
TH e B kH 24 %E % 10
&t

3,3




